ERRATA.

———

Page 113, line 8 from foot, for at least 22,500 read about 20,000.

Page 114, line 1, for assigned, they must subside from 22,500 feet to the low
altitude of this, the leading coast range. read assigned to them, they
must subside from 20,000 feet to the low altitude of this, the leading
coast range, of which they form a part.

- line 9, for The ridge read The coast ridge.
Page 116, line 8 from foot, for 22,500 read 20,000.

» line 5 from foot, for The height of loftier read The exact height of the
loftier.



